Total

1!

number of printed pages—11

4 (Sem-6/CBCS) HC 2 (ITL)

2023
COMMERCE

(Honours Core )
Paper : COM-HC-6026
(Indirect Tax Laws)

Full Marks : 80

Time : Three hours

The figures in the margin indicate

full marks for the questions.
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(A)

()

Choose the correct answer :- 1x5=5

g Ued A Tlenedl 8

Which of the followmg is not correct with
regard to GST ?
#{elj S (T T IS ToT @Wm%ﬁ? i

CETIRS
(@) Itis avalue added tax
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(b) 1tis a destination based tax
2T fofer
(c) Ttis collected at multiple ste-tges

m%@?@ﬁiﬁﬁww

(d) Only Centra] Government 15
authorised to collect this tax

RTTRAR T T (e b 02
A 1 20

(@) Which of the i
followin will 3
charged to GST 2 : BorCs

O (PARY AT @ o
G GRS
TN F2T 2 ST G 4

(a) Jewellery
QET)]

R
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(c) Alcoholic liquor for human
consumption

A2 (AR NPTy
(d).. LIC Policy
Gige I AAfeo

(iii) Which of the following is correct with
regard to IGST ?

HLT 9] D (7 T NG 6T (I O
e ?

(a) It is levied by the State
Governments -

3 IS HIPIPTLL SN2 S

(b) Itis sum total of CGST and SGST/
UGST :

3 CGST 9% SGST/UGST I @Io%e
(c) It is levied on intra state supply
T G fSoTe @A 8vF®
i 9 A
(d) All of the above
Qo[FE AFE
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(iv)  Which of th : |
e following A ) ;
rates of custom dutiegs ?Cts SReciiics tig

T (PIACH! IR ) e 7 219 99 2
(@) The Custom Act, 1962
Al &= oz, 1962

(b) The Custom Tariff Act, 1975

I % g Wiz, 1975
(c) The Central Excise Act, 1944
et
SR &% W13, 1944
(d) None of the above

82T b1\ w2y

(v) Ass
i :am VAT Act, 2003 Came into force

ST S Werifers

s |
o 9125, 2003 N ©ifeE

(@ July 1, 2017

1 &=, 2017

4 (Sem-6/CBCS) He 5 T/c 4

(B)

(b)

September 16, 2016

(c) May 1, 2005
1 G, 2005
(d) April 1, 2003
1 @f2ie, 2003
Fill in the blanks: 8 x5=5
T S o3 & |
() The final burden of every indirect

(i)
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tax falls upon the

@o2Fe A |

One can say GST, a revised edition

of i e
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Write any two features of integrated GST.
s el T (T 3 I 70 ey sl

ou mean by excisable goods ?

(i) ip |
= as the fir s
introduced VAT, stcountry which (b)

s enhalaila
(c/) Whatdoy

(tv) India ad
SRt SR A e 6 g ?

— GST model.
ritorial Waters of

A ez T SI%: GR — Wizl (d) Define the term ‘Ter
( ' l | India’.
when chiE(?III-e liable to | oSt g Tereld ke fl|
from Indig IS Import into or export : |
' (e) Write two objectives of GST
OISR SR o | implementation in India.
Slaeag |
Fqe — sl i gifee )
FCHT p IC/SICSEIS PRI AT Tt 3l
N | iR o ;1\? G 51el] T w51
R AT
; er the followj : ‘
OWINg questions: gy 3. Answer any four questions: 5x4=20
O T T formgy o 5=10 _ 0
(a) Wh : | 35335133?1 5]7351 G| Tl ﬁ}:ﬂ o
at is Vahd
of Goods Act,C;’;l;Bagt of sale under e (a) Prsegare a list of taxes subsumed under
SN GST.
71 Ry , , |
&, S, 1930 3 Wi e oy S R S (T (e T 4 O
[Ga <
kIS _ oxge 4l | :
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(b)

(c)

(@)

(e)
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How is GST a destination based tax? ‘
Explain with illustration. |

, (FUTCA 214 Sje Ol 9 GF w7 fofes 947 |

WQWWW!

\
|
Write any five limitations of excise duty. |

i
vmaaﬁﬁﬁﬁxaﬁ%?mﬁvﬂﬁﬂvﬁhmaamﬂzﬁﬁnﬁ*ﬁ'i

Name the goods which remain out of }
purview of VAT,

A RIS 53 - A2 Aifs
I S 7 | WWW

Wri A
: rite abou.t the constitutional provisions
or formation of GST Counci

wmmmwﬁaﬁﬁmmw
XSO G (B fora

Explain ip brief the

COStom dutien TR types of

fafen < :
\ammﬁmwm%WWWm%mm

8

-

. Answer any fouro
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f the following questions :
10x4=40

ool e e o S e

(a) Describe in brief the history of GST in
India. .
Gﬂ%@aﬁé-ﬁﬁjwm%(?mtaﬁa?ﬁﬁapisiéﬁaﬂﬁt
41|

(b) Discuss the shortcomings of old regime

of indirect taxes.

qﬁﬁomamq%ﬁﬁ@aﬁvm@ﬁmaﬂqgwmﬁmﬁnaan
(c) Describe in brief the reasons for

mtroductlon of GST in India.

SigeEe A4y S ovnaﬁ!em@%ﬁ:aﬁqﬂqﬁ

g S |

guish between GST and VAT.

(d) Distin
qaxﬂamﬁﬁsaﬁaﬂﬂﬁs

sfef e (PR B9 A€
spfefepE < 9
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(g)
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Write the meg
Evaluate the o

ning of excise duty.

s;t.lon- of excise duty in
Indirect taxes i

2+8=10
W oY,
T o I T ol o s
.qsca%qimqﬁiﬁ wa@iiﬁﬂwaa%nr)
Defi 3
Cus::1 Suthe following term
oms Act, 1962 . S under the
At o | ' G210
B9 9IR, 1962 T 9is
H\@T ﬁmg WWW
m‘mm
(1) Coasta) Goods
G g

ic2 UTL)/G 10

(h

4lSmn-6/CBCS)chuTu/G

(iii) Exporter
SEeiosac)

(iv) Imported Goods

ST A

(v) Importer
IRGICERS)

Who are persons liable for obtaining
jon under GST ? Explain the
btaining registration

4+6=10

F99 THHO
31 GO

registrat
procedure of o
under GST.
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